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	BACHELOR OF SCIENCE (B.Sc.) 

Cr) 	 Term-End Examination co 
o 	 December, 2013 

CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 
Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. 	(a) Write the IUPAC names of any two : 	1x2=2 
NCCH2CH2CN 

CH3CH2OCH2CH - CH2  CH3  -1 
CH3  

COOH 

NH2  

(b) Assign R or S configuration to any one of 
	

1 
the following giving order of priorities of 
groups attached to the chiral centre. 

(i)  

(ii)  
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(i) 
	

CI 

OHC 	 

CH3 

OH 

H2N 	CH3  

H 
(c) Assign E or Z configuration to any one of 	1 

the following giving order of priorities of 
groups attached to the double bond. 

(i) H2N 	Br 
C=C 

H3C/ 	OH 

(ii) HOOC 

C=C 

CH3 
	N

C/ 

(d) Write the structure of propyl methanoate. 	1 

2. 	Attempt any five of the following : 	2x5=10 
(a) Write the chemical equations to show : 

(i) Diels Alder reaction 
(ii) Haloform reaction 

(b) Why is Benzyl carbocation more stable than 
tertiary butyl carbocation ? 

(c) Why is salicylic acid more acidic than 
Benzoic acid ? 

(d) State Huckel's rule giving atleast one 
example of carbocyclic and Heterocyclic 
compounds. 
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(e) Complete the following reactions : 

H + 
298 Ic 

CH3SCH3  + H202 	
 H + 
373 k 

(f) How can we differentiate between 
Acetophenone and Benzaldehyde ? Give 
two tests. 

(g) Why is TMS used as a reference of chemical 
shift in NMR ? 

3. 	Attempt any five parts from the following : 3x5=15 
(a) Give the products of the following reactions 

explaining the reasons for it. 

No 	0 A 
HBr Peroxide 

CH CH = CH2 	 
Peroxide 0- B 

(b) What is the product formed when Methanal 
(formaldehyde) reacts with ammonia ? Give 
the structure of the product and its 
medicinal use. 

(c) Give reactions to show the various products 
formed by the oxidation of Aniline with 
hydrogen peroxide or peroxy acid. 

(d) Give chemical reactions of ethyl magnesium 
bromide with the following : 
(i) methanal 
(ii) ethanal 
(iii) propanone 
Also give names of the final products 
obtained in each case. 

? 

? 
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(e) Give one example each of the following : 
(i) functional group isomerism 
(ii) tautomerism 
(iii) optical isomerism 

(f) How can you convert 2-hexyne into the 
following : 
(i) cis-2 hexene 
(ii) trans-2 hexene 
(iii) hexane 

(g) Give the structures of reduction products 
obtained by reducing Nitrobenzene in 
acidic, basic and neutral conditions. 

4. 	Attempt any five parts from the following : 4x5=20 
(a) 	Fill in the blanks . 

(i) The structure of all terpenoids is built 
from 	 unit. 

(ii) The two important nucleic acids 
found in living system are 	 
and 	 . 

(iii) Benzene reacts with C12  in the 
presence of sunlight to form an 
addition product commonly called 

(iv) Phenol on exposure to air and light 
for a long time turns pink due to 

(b) Write the steps involved in the following 
reactions : 
(i) Reformatsky reaction 
(ii) Kolbe - Schmidt reaction 

(c) Explain the directive influence of the 
following groups when attached to 
benzene: 

(i) — OH 	(ii) —NO2  
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(d) Write the steps involved in the preparation 
of ethylamine from propanamide. Name the 
reaction involved. 

(e) Complete the following reactions : 

(i) 1,5-Dibromopentane Zn? 

H3MgI >  7  
(ii) CH3COBr (2 moles) 	• 

(iii) C2H5CN  reduction  
2  

(iv) C6H5 N  Zn/ H 

/ 
	> ? C 0 

— HClHC/ 
CH3 

(i) How does Ninhydrin react with 
a - amino acid to produce a blue-violet 
coloured compound ? 

(ii) How can you convert 4-ethylaniline 
into 4-ethylchlorobenzene ? 

How can you prepare chloramine- T starting 
from toluene ? Show the steps. 

(f)  

(g)  
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1. 	(a) 	r-ti-iFori_qo 44 

fr : 	 1x2=2 

(i) NCCH2CH2CN 
cH3CH2OCH2CH - CH2  CH3  

CH3  

COOH 

NH2 
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(b) 	F-11-11-4(_go 4-4 -F----:ft - ci, f f*- c -k--  *At 	1 
T1Lffi .-T allidT s171-I t .  V R 7T S 3-Tri4
f9I,Tfftu --1-r--  

(i) 
	

Cl 

OHC 	H 

CH3 

OH 

H2N 	CH3 

H 
(c) 	1:14-.1 RI 	fi_go 4 	f-*7:ft f, -wr fg-31N ITT 

3ift-9-1 Tilt " -1 3-Trdi 9b H --k .  F E 3-1-1-4T Z 
3Trifq-Pim fiqift - 1-r.--A7 : 
(i) H2N 

	

N 	y Br 
C=C  

V N H3C 	OH 

(ii) HOOC, H N , 
C=C  

V N
C/ CH3 

(d) tfcl- -4421-4cra 	4k-cil I fFtf7 I 

2. 	-1 4-1 ci (..V1  A.A ftt TOW Pt * dr! t q A : 2x5=10 
(a) f91:71-r- F.fff ati-Trwzrre 	qif * Fro; 

qii,-1F-1.1, w-11.bui tfu7 : 
(i) tR4- c,-s,  31fif-wEir 
(ii) t*chii:131f4Trwzrr 

1 

1 
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--rq149-rzr7 	wir-EF .wrqltrffr-zr-i 
aftw T-9-trt qz4 	t ? 

FoRilo 	a,31- 1 	aiwt 3TrITWaiwilzr 
co-1 ci 	t ? 
chictil9b 	r4(44-iish1ti 	r -wi:f 

1 Lrn 	 7-*-F F.-NH tfUR 

F-11-1 	3Trif-wzrra1A- r 	: 

H+  
298 

CH3SCH3 + H202 

  

H±  
373C 

3-1Tcf 	 (-51*51f-*7:1McilR 
3-td7 ? 	Fit 	 

7.714.*. -e.r.74 	km10-4 lch 
#q(14 .14' wzrzh f*-Tcf \Midi t ? 

3. 1:14-irriroo 	't1 drR 	: 3x5=15 

(a) 1 	-i Fri Rg 3-Tril1w7r3 -7crrq fuft17 
3TCA 	

 
37R rri 	RurTd-r-47 : 

CH3CH = CH2 HBr  t-Ria+11*8 
■ .•• 

B 

(b) 	140F (NiT 	 ailtf9err 	TrrzT 
3Tfilf-oTT choi t 	qzir -a--eTrq -7FTr 		 t? 
7-ezrrq .0- 41-11fa-N7*-p:rwr3-ThsfrtTi47cr 

7Ertrr q-d-r- 
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(c) 	 Likict-ths Trr13fr- 
g RI 34-clq-1 	MILc1 fa 	fir dccclT c1>1 

f -fti7 

(d) -cif2ro 	 (vi '00 t Trm 
3-iffwzrr -r -ftr7 

(i)  

(ii) 741-  

(iii) -5449F 

Trrif z-ecrr- 	T7r 	-4a q7 

(e) 	-14-1 	t_10 t 	73- T 
\311 : 

(i) Trly 	 

(ii) -eft-naiad! 

(iii) ychtPich -14-11a1acti 

(f) 
	

379.  2 - NTITO 	F-14-iR1R5c1 14 
Liro 	? 

(i) -FTRT -2- t-4*-i 

(ii) I ti -2- #49.  

(iii) WM.  

(g) 	t 	ut-zr 3th 7-q-m-17 
Trft-FT-4f-dt f- 7 -r7 31-cr-q-zr7 

, ti.111" q'lr,-R I 
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4. 	F-11--1 (.V114 -4 fw--4: 	 : 4x5=20 

(a) F-14-1{460 4 fTWT T-QTA 	iTft7 : 

(i) 79# Zifit 4k-ci I 	T*774 

G1-I 	 ilc11 t I 

(ii) Trtq fFr4 79-fT-2r-d t 

	3-th 	t 

(iii) Tit mcbm TTFT-P-Tfu 	c12t 

Trrg 3-Tr9f-wzrr 	-) 4011(1-1 3-ezrg 

f74 3TP:tT "TT 	 

'11(11 t I 

(iv) .q1zi ATSl .1,Rf 	313Trq 14 	 

t (Wu( 	chi tTriTTql- t \Aim t I 

(b) 	P14-Ircingd 31-firfwzfraff 

: 
(i)  

(ii) - fv1:rz 31fifT71 

(c) \IN P-p-irorod  	t 

th. 	F-1110-Ich 3f era 	oe.11(9q1f77: 

(i) 	- OH 	(ii) -NO2  

(d)  	70-ff .51-711-4 	F-irci 

f-fffti7 I 	31-firr-wzu ch I -rtH 	-d-rT7 I 

(e) 	1:14-1Forod 3Tri-f-wzrraff 	Tki 	: 

(i) 	1,5 - 	 Zn > 

CH3MgI  
CH3COBr 	> ? (2 moles) 

C2H5CN 3.17779. 
> 
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(f)  

(g)  

(iv) C6H5 N Zn/Fig 
C 0 	) 

HC/ 
CH3 

(i) 	Vi a - tr117 31Wff 	 
fwzrr Ttt t   -7rlat trr 
tr-TT .SITC1 6111 t? 

(ii) 3-117 4 - 	 4- 
-R-ftr741)- 	rch , -1 5rwR 	 

? 

dictil*faTrt9-i 	aTrcr cKilA41 	-1-Tff W 

01-117*it? 
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